T RAEF A RE ARG G5 A R 2R L2 5
A BT 3 AL 2 52 B R A 5 AT ] B i W R N B B AR L R
A 2 AT A w5 1 1A 25 I E G fe B % SE AT 5] 2 2 AT A 1R K R I8 (T ] BT e

a It e 48 |5
Uni-Bio Science

UNI-BIO SCIENCE GROUP LIMITED
BEEYNEEEERA T

(B 5 B i A 7 2 A R4 7] )
(R 1X5E : 0690)

Ro-Z-L#EDLHA T+ LEHEITZ
i M AR OR & 2 PR AR

O F—JUAE A A TR T8 R AR R | R T 2 BT AR R
W= E— jLEﬂiH+JcElé@ﬁzﬂx%iﬂiﬁ*t%&}iuT&mﬁJUEJCL
i o

2 PR AW R AW R B A R AR (TAR 2 W) EA:;’ JUAE I A + — H Il
WK NEABR ST KRB B AR EEA LA ER AR A
2 m) 2 A% BT ([ e ) F’f‘é‘F%ﬁF)ﬁaazli/\ﬁfﬁﬁ?i‘mFHZﬁ%Eﬁi%ZﬁI%lﬂ?ﬁ%
& B A A TR 6 FE -

HREERREM T NLFEWA+ - HZBREEE KRGS S (T EEE X
@ﬁ¢JW%ﬁz%ﬁ& RO R EE R FER Ry R E
oo AR AR K g 2 H oo B AT B BB 6,194,068,147 I - i M % B ZH L K
WEFERE EIREBZAEMPREB R ERENE - W A 6 $£6,194,968,147 ik
By (AR AT A BERBEFE RG22 HE BITHRAZ100%) 2 B R A B SR KR
HERGW R G LR EE RS R ®E -

* fE Pk



REREUHABRRAFERGES ZHERBER2BEELEFWT
. & 17 8 H (%)
W PR K
a % R
. | BEEARFMANAHE —F— NF+ | 2,067,896,444 0
A=+ —HILEE 2 8HFEZESMH® (100.00%) (0.00%)
%&%%éiﬁfi&ﬁ%{ﬁﬂ&ﬁb
2. |G) EIB(KHEUB T IRBEZES L T| 2,067,896444 0
AN FEE (100.00%) (0.00%)
(a)  BROK o 2,067,896,444 0
(100.00%) (0.00%)
(b) BB B 5 G A 2,067,896,444 0
(100.00%) (0.00%)
() JAREWI g K 2,067,896,444 0
(100.00%) (0.00%)
(b) BT 14k . 2,067,896,444 0
(100.00%) (0.00%)
(i) MEANFAEF(EREDEEEIFTM| 2.067,896,444 0
45 o (100.00%) (0.00%)
3. % HE 7 B e B W PR O & FF AT SEF T & AR | 2,067,896,444 0
mzmmm&w\ A E R g E H (100.00%) (0.00%)
@}H 4 o
4, | TEF - BRECER DB R YLLK ]| 2,067,896,444 0
RO AR OK &l R4 H%E%@fﬁﬁikﬁtﬁa (100.00%) (0.00%)
% %éﬁﬁ&ﬁﬁﬁﬁiﬁﬁﬁﬁ$ 7 1fo53‘
5. TESF - BIRECER ) A FR % | 2,067,896,444 0
WHEFEREGEEESHRZESR ﬁﬁzzﬁi (100.00%) (0.00%)
i I N/
6. | HRBEFERKRGHEEFAPRZERIA 2| 2,067,896,444 0
HRBERRTEFZ — BRME ST (100.00%) (0.00%)
[ A NN ST Il B/ I (A
M E - bk R G B R A e AR DL A~ N ARt R B AT S R R R AR

PN -l B A B o Al O R WA R A




|

AN E 2R R

ERZER

Lol HAEMEA B A IR & 7] AL B BRI AE R &

paill

A o )
Wi A B3 5 M A R & W]+
Ey3
7 HE
Hil _EF - NLFERHA T CLH
JEAR Ll H WY > #2695 = P 1T F RS () o K B R
) K TG — 5 BT # LS R TG R = s B AT A
i e R e R N i o A= U e e

* fE Pk



